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Precalculus - Section 6.1C— Law of Sines
Practice Problems

For Problems #1 — 10, draw and label a triangle with the given information. Solve for any unknown measures.

Round answers to the nearest hundredth.
(Hint: keep in mind. .. are there 0, 1, or 2 triangles which fit the specified criteria??)

1) Solve ACAT given: ¢ = 70, A = 40°, T = 65" —q' A = £ e -'LT"T = £ )
n r C . SN S SN S'n
ASA C = 180°- 40" -5 a._ =z t_ =20
e=75° SinH0°  sin7st | 5/065°  5in7s’
_ qQ 5:n75° = .22;&9—":‘-’ t Sin 75° = 70 5incs°®
ce70 T Sin7st 078 Sin7s*  Sin7s*
2)  Solve AABC given: a = 15, A= 85" b= 2{) s
Ngsq" B SinA - 508
- IS _2S
a=is Sings* ~ SinB Sin B< hiéc
“5 as 3in85* = sinB [‘no_Setien |
A b=2§ IS Rg1ee
3.) Solve AABC given: a = 26, A =48, b = 31
nssa* AP IST TRIANYIC. 2nd 7mRIGNTIE A See work
a=20 ~ ° - N Below
Bxc2 38 B~ na.cz
48" Cx 6q.62° C% 14.38°
A b=31 © ¢ % 32, 80 Cx 8,09
4)  Solve AMAT given: m = 54, M = 722 T=82 R m_ - .4
"Aas" T A=180°-T-M SinM SinT SinM ~ sinA
M mesd  A=180'-82°-72° | sS4 o £ 54 . 4
5in72°  5in82°| 5in73'  sinze
A 25 5935/n82° a=S9Y3na*
M Sin72° Sin 72°
& s¢. 23 P
5)  Solve AOWT.given: 0 2 9615, 0% 10.2,1= 8.3 Z 2 ax2989
W Sind ~ 3l W= 180°- 0- L
_ 0.2 g3 w=180°- 9 s’ -53.99°= [29.7¢*
= 10.2 : ). <: L - W
) o= 1 3in9°1s’  SinL 525 ° 30w
L=8.3 8.33/09¢%5’ = SinL 0.2 s M
o L 10,2 3in9¢°15'  Sin29.7¢*
nssx" *‘oé",’;,'ié‘ x .Sia"(%y)”‘ W= 122 5in29.7% °  |w % 509
Jrn 96°K5’
(0 or | sadien) |£% 53.99 °|

saving journal files Page 2



b=12

6.) Solve AABC given: a = 5, 4 = 125, : °

® a .. b a ( 'w ) =B
% Sinn sSinB 3in 3
a= 5 12 :
A D asm— fon
Jetvt A b=12 128in)25° = s;n B
(1of © Sa\vtion) S =elq7
7)  Solve APIG given: p = 61.37, 3= 72.8, G = 18.2 I = 130°- P-6
b = T = 196°~ |8,27°-18.2°
) 9=u.$'1 sing 3inP [T= 1ve.53°]
9* 28 < CLE? - N
’:\" 3,n/8,2° SnpP Si0é ” sinl
P ussan aluie X SinP= 64323/n)8.2° 2 .
(o,1)0r2 453) T AT 2.8 Sin /12.2* s/'njve.s3°
X workk for 2nd & below ; o [T=
8.) Solve ADOG given: d = 30, O = 100°, G = 65" (e Zarom l‘(‘..$3 CT /2855
A_ o B 3/n 18:.2
o B=180°-0-6 | 5iap” Sino 3
@ de3o  D=180°-100%-6S 3o _o Sinp~ Sinc
= 18° Sin 100° -
A D= 1S SinIs® T T
0= 3035in100°

D ”ASA. (o] ‘Xasi"; 'li'. ik
14,
9.) Solve AJOE given: e = 33, E = 20", [ = 10/ e B 9 "\";105005‘;
(o] -~ T - —_— —_— T =
.3 0=180°-3°E | Spe” sino | Zne " SinT
5 1o’ 20 £ 0= 150° Sin20° 3inISv®| Sin20®  Sin1o°
"aps’ 0= 33 Siniv* J= 3—3_‘?___;,”0:
Sin20° Sin20°
10)  Solve AABCgiven: a = 2.7, A= 32, b =38 o% 4¥.2Y J® 16,75
3 IST TRIANSIC. 2nd mangle X see worx
? ag ,l7 &w
B¥ 48.23° B 1S.77*
C% 997° C~ /628°
h % qfvef‘ acvic & B cx~ S.o02 e~ 1492
» (0,102

’ SSA »)m‘ms)

For Problems #11 — 12, find the area of a triangle with the given measures.

11)

Find the area of ADEF with D = 100°45", ¢ = 18.2, f = 25.

223,51 Sq un'ts

ﬂ:tC‘ sinD

12)

Find the area of AQED with Q = 15.7°, ¢ = 100, d = 125.

A= 2 (1€2)(25) Sin wo*495’ =

169).25 3@ unily

A= % (100)(125) 3in 15.7° =
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3.) Solve AA4BC given: a = 26, A = 48°, b = 31 " -“fl;:z .
NELe! - b 2nd TRANgkE
nSSAY B Im "’%M 3578 ng
Mo 2 - 3L B 117.02°
o e Sindx* - 308 €= 180°-A-B
v 31 sin4g =308 C= 180°-48" - n7%62*
26 « v 88 C% 14.38°
. .1 31 Sin¥8*) = g a _c
Sin'( 7 4 L
Bx¢2 38° %‘ i}
C= 180°- A-B Sin 48° Sin 14,38°
e-: '800 ‘4?"62;33. 2‘ 9",’9.38. - c
(6% ¢q.02° | 3/n48°
“ 57 cx 8¢
SnA  SinC 7
26 - ¢

SnYs® Sinede2’

26306962 =¢C
S/n 98°

¢ < 32 80

7 px527° :1:

Pa=180°-15.27°= 164,73°
T = 180°-P-&
= 180° -10Y,73°-/8.2°
= =2,93°  2pd A not possie
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10) c a b
-_c 8 C= 180°- A-B a - -C—
A a=27 ot 30 f-.- 180°-32°- 4%.23°%| 5ipp  SinC
v’ 2.7 2_3_'.8_ cx 99.7° 2.7 = C
32’ 5 Sin32¢ .5}0.5 Sin32% s5n949,2°
%givenacied ©  XnB = 3._4%0&1,' C= 275997
C) n (0,1 Or? : 'n 32
SSA Sownont)  [Ba yg.23° C’-'_S.'o%
2nD A B=180°- 48.23° | C=/80°-p-B
T B=131.77° ¢ 180~ 32°-151.77*
C= )6.28°
a - £
sinf— SinC
27 o £
Sin32%  sinj.23°
C= 2.75/n/b.25° ~
Sin 32°¢ ¢ haz
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